. Find the equation of the tangent line (¥74%) to the curve y = ad
T
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1. Evaluate the limits: (& % 6%")

. z?—x—6
(8) lim ————
. T =5
O s
sin(8z)
z—0 sin(9z)

2. Find the derivative (¥ &) j—y of the followings:(#~# 64-)
T

a) y=e® -sin(z).

(

(b) y= (a2 —1)"”.
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(d) =+ 2z%y + 92 = 3.
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at (4,1). (10%-)

- Find all extrema (#4&) for y = z — 2In(z) on the interval [1,3] . (129%)

. The management of a department store has decided to enclosed an 1600 ft2 rectangular area

outside the building for displaying potted plants and flowers. One side will be formed by the
external wall of the store, and two opposite sides will be constructed of pine boards, and the
fourth side will be made of steel fencing material. If the pine board costs $6/running foot,

and the steel costs $3/running foot, determine the dimensions of the enclosed area that can
be erected at minimum cost. (12%%)

. Evaluate the following integrals:(#:-1:%64")

(a) / (-“'55 -2 - 53:4) dz.

(b) / 2(a® + 9)°dz.

(© /ljemdz.

(d) /12:3111(33) dz.

R ARATTRY R TR RIS




